1.

2. U IFANFA faek # 6 9 o0 S R | =W
o1q <ht T WIRehaT 2 fF 93 381 &1 afom
Tgd e IoTEl § e gt | e g 2

7 G e
2 E v (\f};’jg_,/ (0 \u@)
i )
®» = *
16 L7 A
&\1
1
(c) 32
1
(d) v
DFTK-S-MTH

T x WKy % de wewey o 3, A
(3x+4)3ﬂ'((—3y+3)%3@%["l:I'EF&"iT‘i“‘TTI“TWT’RTr

22 i
Ce
(@ -r / W‘K Q/)V

o TP

f 4 &
(©0 J3r XO@‘yg)CUQA
@d -43r @}_

(2-C)

3.

'{Iﬁ ?ﬁq H@Ta:h 1004, 1005) 3ﬂ-{ 1006 ?n"[

mmHg,aﬁ%mmw%?
(a 1
14
®
17
(c) E
1
(d) 31
o % & n o & el o P e Q W i
| 3R @ oo v @ fuffa i §, 4
F1 TR 8 f6 P 3R Q Uk Ty &3 ?
@ 1 Mgy ™ @3/
n _ P'
n - .
(b) % (}),ngcalﬂ) th
ﬂ,"
© % U\\)Q) m‘&) .
1 i
@ o= '

T {398 51 § B(n, p), n = 6 3ik
9PX=4)=PX=2). p%a%wi?
BU\JP)’YL )// PUL//'}/)
w) =
¥ )
ol W=
o = LL/M’%
P o) T
B"‘Q‘.-C’N
%)

M7 S

¢+ o

=

(a)

=
<

~
(¢]
A
ST N R

(D

¢)

¢



DFTK-S-MTH

If r is the coefficient of correlation between x

and y, then what is the correlation coefficient

between (3x + 4) ang (-3y+3)?

(@ -r

b) r

© 3r
d -J3r

A fair coin is tossed 6 times. What is the
probability of getting a result in the 6t toss
which is different from those obtained in the
first five tosses ?

(a —

b —

(0 —

@ —

(3-C)

If H is the Harmonic Mean of three numbers

10C4 , 1005, and 1006, then what is the value

of 210 5
H
(@ 1

14

(b) 17

17

(c) IZ
1

(d) 31

' In a class, there are n students including the

students P and Q. What is the probability that

P and Q sit together if seats are assigned

randomly ?
@t
: ; n
w2
n
(c) s
n
1
d T
(d) o

In a Binomial distribution B(n, p), n = 6 and
9P(X = 4) = P(X = 2). What is p equal to ?

(a)
(b)
(c)

(d)

QY x| N~ A=
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Consider the fo?lowing for the next five (05)|8.

' items that folloy :

Three boys P, Q, R and three girls S, T, U are to be

arranged in a row for group photograph.

6. What is the probability that al] three Boys sit

together ?
(a) 1
5
® 1
1
(c) §
1
d 12

7.  What is the probability that boys and girls sit

altirdiEivily's
@ %
® =
(c) %
@ 2

DFTK-S-MTH

10.

(§-C)

b —

What is the probability that no two girls sit

together ?
(a) %
® 2
(c) 1_18_
@

What is the probability that P and Q take the

two end positions ?

(@ —

e ¢
(C) 1—5
11
d =
(d) 15

What is the probability that Q and U sit

together ?
(a) %
(b) i—
(c) %
@ 1
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11.

12.

13.

The sum of deviations of n numbers from

10 and 20 are p and q respectively. If
(p-q?= 10000, then what is the value of o ?

(@ 10
b 20
(¢) 50
(d) 100

If X =20 is the mean of 10 observations

X1 X - Xq0; then what is the value of

10
2 [3}:i —4]

: ?
< i3

1=1

@ 0

(b)
(c)
(d)

12
112
1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,
then what is the standard deviation ?

(a) 16

. b) 6

14.

DFTK-S-MTH

¢ 5
d 4

Three dice are thrown. What is the probability
of getting a sum which is a perfect square ?

17
108
5
o=
19
108

2
108

(a)

(b)

(© °

(d)

16. A, B, C and D are mutually exclusive and

16.

17.

(7-C)

exhaustive events.
If 2P(A) = 3P(B) = 4P(C) = 5P(D),
then what is 77P(A) equal to ? |

(a) 12

Two distinct natural numbers from 1 to 9 are
picked at-random. What is the probability that
their product has 1 in its unit place ?

1

81

L

72

1

18

5L 2

36

(a)
(b)
(c)

(d)

Two dice are thrown. What is the probability
that difference of numbers on them is 2 or 3 ?
1

36

i

18

5

18

11

36

(a)
(b)

(c)
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18. What is the mean of the numbers 1, 2,8,..,10|21., What is the length of projection of the vector

. N 9
with frequencies Co, 9Cl’ 902’ ey 9C9» : + 23'\ + 31;\ on the vector 2/i\ + 33'\ - 21::\ ?
respectively ? 1
(a) —=
(a) 11x28 J17
k) 12x7 R 22
V17
(0 55 ;
(el =
d 055 J17
L4 | w2
19. The probability that a person recovers from a @ 14

disease is 0-8. What is the probability that
exactly 2 persons out of 5 will recover from the

: - -
disease ? 22, If(a xb )2+(a .b)2=1ddand | b | =4,
(a) 000512 then what is the value of | 2 | ?
() 02048
. 3 b) 4
d 00512
() - 5
20. Suppose that there is a chance for a newly @ 6

constructed building to collapse, whether the
design is faulty or not. The chance that the
e P : . i i
degign i furlty gl The: chance ﬂ’lat the 23. If 0 is the angle between vectors ? and b
building collapses is 95% if the design is

_)
J such that E) . b >0, then which one of the
faulty, otherwise it is 45%. If it is seen that '

following is correct ?
_ the building has collapsed, then what is the

probability that it is due to faulty design ? (@) 0s<6<n
@ 010 (b) g <0<m
(b) 0-19

() 0<p< ™
() 045 2
@ 095 : @ 0<0< g

DFTK-S-MTH (9-C)
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9x+2y+z-1=0
2x-y—-2z+5=0
92x+2y-2z2+1=0

d x-2y+z-1=0

28. %@1313( 2x = 3y-—z3ﬁT6x-—&-—4z§o‘aﬁa

H R HE ?
(ay " 0°
®)
(c)
(d)

30°/
60°
90°

29, W Tl F ThEW w2 W A

x2+y2+zz—2x—6y—8z—5=0a7'lﬁ-ﬂ%
3 FRY-E-ig & Bt TSl @ 2
x2+y2+zz—2x—8z=0 '
(b) x2+y2+z2-2x—6y=0
© x2+y%+2%-6y—8z2=0
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A A .
94, The vectors 60i +3j, 401 -8Ij\ and |27. Which one of the planes is parallel to the line

A A _ { x—2_y—3=z'—4.?
Bi -52j are collinear if: 3 4 R
(@ f=20 (a) 2x+2y+z-1=0
(b) B=40 (b)  2x-y-2z+5=0
U (@) 2x+2y-2241=0
(d B=26

(d)_: X=-2y+z-1=0
25. Consider the following in respect of the vectors

-5 e 28. What is the angle between the lines
a =(0,1,Dand b =(1,0,1):

2x=3y=-zand 6x=-y=—4z"?
1. The number of wunit

vectors (a) 0°
: > >
perpendicular to both a and b is only : .
oy : (b) 30
60°
2.  The angle between the vectors is g )
(d) 90°
Which of the statements given above 1s/are Bl ‘
correct ? 29. lWh'ail; - is  the equation of the
~(a) 1 only - sphere  concentric with the  sphere
el x2+y2+z2-2x—6y—8z—5=0andwhich
(b)) 2only
passes through the origin ?
(c)  Both1land2 . :
(8 x+y2+22-9x-8z=0
(d) Neither 1 nor2 7

(b) x2 +y2 + 72 -2x-6y=0
26. If L is the line with direction  ratios

(c) x2+y2+22-6y—8z=0
<3,-2, 6> and passing through (1,-1, 1),| : o %
then what are the coordinates of the points on| =~ (@ _ X' +y? +28 2% —6y-82=0
5 Lwhose d1sta.nce from (1,-1, 1) 1s2umts"
. |30, Apothhes on the line joining A(1, 2, 3) and
T fak [—-1—1 o 19 (l £ 8 - B(2, 10,1 If di fP h h
3 T T 77T ). If z-coordinate o 1s7watlste
v A T ' .. sum of other two coordmates ?
B8 (0t (s Lo
TR T T @ -5
13 11 19 _1 .35 S
(c) (7,7,7)3.11(1[ 7 7’7) /
' 13 11 19 1.8 L e
: d =9 d AT = < [T A
&8 (7, 7 7)“ (7 7 7) @ -9
DFTK-S-MTH (11-C)
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(a)

()
-
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(b)

(c)
(d
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g1. What is the equation of directrix of parabola
y = 4bx, whereb< O and b? +b-2=07?
(a) x+1=0
b)) x-2=0
() x-1=0
d x+2=0
82. The points (- a, - b), (0, 0), (a, b) and (a2, ab)
are :
(a) lying on the same circle
(b) vertices of a square
(c) vertices of a parallelogram that is not a
square
(d collinear
33. Given that 16p% + 49¢2 — 4r2 — 56pq = 0.
Which one of the following is a point on a pair
of straight lines (px + qy + 1) (px +qy-1)=0?
7
9 L.
(a) ( ) 2)
7
Qs
(b) ( ) 2]
() (4,-7)
d (4,7
34. If 3x + y - 5 = 0 is the equation of a chord of
the circle x2 + y2 — 25 = 0, then what are the
coordinates of the mid-point of the chord ?
3 1
(a) (Z, Z)
, 3 1)
3 1
(C) (Z: B Z)
|
(d) (E, = 2)
DFTK-S-MTH il

o i/
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Consider the ' following in respect of the
S eI 5

ti =9,
equation 24_k + k_16

1. The equation represents an ellipse if
k=19.

2.  The equation represents a hyperbola if
k=12

3. '.The equation represents a circle  if
k = 20.

How many of the statements given above are

correct ?

v

(@) Only one

(b) ., Only two
_(e)  All three
(@ None

4

Tramtle Y

Consider, the following statements in respect
X2 y2
of hyperbola G el
cos“ 0 sin“ 0

1 The two foci are independent of 6.

2, ' The eccentricity is sec 6.

R it atice’ betweon the two foci is
2\ . J

2 units.

How many of the statements given above are

correct ?

[ (a) iny one

,(b)  Only two

() Allthree

(d None
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Consider the following for the next two (02)

items that follow :

Let a;, ay, ag ... be in AP such that

a1+a5+a10+al5+320+a25+a30+334=300_

41, Whatis

a; + a5 — a1 — 815 — 499 — Ag5 + a9 + Agy

equal to ?
(a O
(b) 25
() 125
(d 250
34
42. Whatis Z a_ equal to?
71is e
@ 90
-I(b')_k 1025¢
(cj 1200 80y
@ 1275 N

| Consider the following for the next two (02)

items that follow:
T 2n 4n 8n
Let p=cos (E) cos (?) and q = cos (?) cos (—5-) v

43. What is the value of p+q?

37. Consider the following in respect of the circle
4x* +4y2 —4ax—43y+a2 =0:
1.  The circle touches both the axes.
9.  The diameter of the circle is 2a.
3. The centre of the circle lies on the line
X+y=a.
How many of the statements given above are
_ correct ?
; (a) Onlyone
‘ R Only two
(c) All three
* (@ - None -
38. ,,Foi'f § What vall_les‘. of k is the linef
 k-3)x-(6-k?) y,+ k% — Tk + 6 = 0 parallel
tothelinex+y=17?
D 511
® -1,2
e 1,-2
@ 2,-2
39. The line x + y = 4 cuts the line joining P(-1, 1)
. and Q(5,7) at R. What is PR : RQequal to? !
(a) A:1 e
(b) 1:2
fey* 2.4
(d)l 1:3
40, ’ Wha;t is the sum of the intercepts of the line
whose perpendicular distance from origin is
4 units and the angle which the normal makes
with positive direction of x-axis is 15° ?
(a) 8
b 446
() 846
d 16
DFTK-S-MTH (15-

1

(a) - E

1

(b) - -
¢ O
1
(d) 5

C)
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T T
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Yz gl

sin 8x + sin 3y T A FT & ?

(a)
(b)
(c)
(d)
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1

3
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3 },@d)«/g" \/(.a')/3a . ux{.\}v}f&}) \‘_ﬂ,
N Gk g
: Vi i Bcy Mopi 0 Jeay L LBt
46. x%iﬁﬁﬁmﬂ%mgﬁﬁa’rm%?’ i oy 31 *Qowa}uw& .
(a) Wm%%ﬁﬂﬁ 50, 32:b2:c2ﬁqaﬂcrmi‘|§?,s:_r _ ‘
(b) Had Tk A F foT (8) 2:2+43:3
a p (b) 2:2-43:2
© st gl 7Tl (¢ 2:2+43:2
(@ Faa T A & fere @ 2:2-3:3
DFTK-S-MTH (16-C)



44, What s the valueofpg? = Consider the followmg for the next two (02)
| _ items that follow :
B0~ —
Fasi 16 Let sinx + siny = /3 (cosy — cosx) X+y= g
! 1 : ; _ : :
(b) D ) A : 0< < .‘E . ¢
4 XYy D)
1 . ‘ : : ; }
(c) 1 . 47. Whatisa value of sin 3x + sin 3y ?
5 @ -1
1
d gt . e it :
o 6t i N () .0
© 1
g ‘;' o ag (d)\ 19 : . : ; ..
Consider the followmg for the next two (02) VINTR 3 LBRl L
that follo y 48. What is a value of cos® x + cos® y ?
;tems a w: AR - | &/ ; i
| o e oy 843
Let _}__tan3xand | & (a) e
AP S T anx Yy - \/_
g Lo DRGSR
q;1‘-73tan2’x,0<x<n,x¢ = / o [ - 8
: . ] B St 4
" 45. Whatis pq equal to ? : A ;
i (D iy
@ 1 il '
v 1, |Consider the following for the next two (02)
B2 ' ; e : J“f* ltems that follow : :
P 8 ‘ v | : The angles A, B and C of a triangle ABC are in the
(c) 3 ; }’( rat103 5 4 ‘
@ e e i 49 What is the value of a +b + J§ c -eqﬁal to ?
3 g AL ‘
i (a) 3a
5 y : o e i { 5 ‘_"
46. For how many values of x does — become | (b)2b
. p " s i : ; o
. W nas (6) 17 3b
zero 7 < e |y i
' . S v / j s S : ! g
o e v : ; “150. What is the ratio of a2 : b2 : c2 ?
(b) Only one value : e ) 2:2+43 8
L ; e ) 2:2-+43:2
c nly two values . - / |
\ Fl e () 2:2+ 32
(d) Only three values - @) 2:2~43 -8
DFTK-S-MTH : : (17-C)



T ST AT 7 (02) et o e AR w54, lim £ TR ST R 2

)%W%(’: - x-0
| . @ -3
‘ ( / A Hifdw 1o J' sin x+cos4xdx ;
i 9, 1+ ' (b) _§
51. i L
J. (sinx + cog? x) dx forerss s 2 2
(Z) 3n 3 Uy o cox“‘n,’cm/(d) :
E’ ) g\ }((\)’L 55. ’Iﬁ'ﬂx)-l%lnlxl]w0<x<lfﬁf(05)
| b 3 © ~ TR E?
L ( 4 e a@oﬁ-/- ‘(f(’:)L__z
\
/ (© ?’2£ | L(ﬂ =) / 1 47
l d) 3g | Q L g (" /\J
i n
2 Iﬁ»‘aﬁ;m%? R .010/ A’ lAfV' )
j (a o A LQDL(LVQ 56. IS £1x) = cos (n x) I y y (2’{ 3] ?h%
: 3n ' ' )i ‘
| (b) = Sé . }L% ,&'W%?
(, @ o 1 % Ly (a)hcos(zn(zi—s))
| <« i
| ‘ Y.
‘ @ e CARNAL T —%-sin(ln(zx_3n
J maﬁm##(oz)m;ﬁyﬁn@@ww' 1 : x
f -3 (9% —
w E ﬂaﬂaﬁﬁq gt‘\u\«yulwlL x2 cos(ln( X 3])
| ax(x+1)+b, x
1 Waﬁﬁ‘ﬂﬁﬂ={ }::_1+ 1$:;2 \ (d) ——cos[ln(zx 3)]

53. ARQ HeH fix), x = 1qraamaﬁa%?h(a+b) ()g

|

|

| 1 o

' M w1 3 | (\,()g/j/{mxmx
1 ' b2 e

@ -~ :
’ g 3 /)—lﬂ/
| ®» -1 ' AT L
| () 4
| © 0 39 |
!;[ @ "1 e \/
H @ 16
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consider the followmg for the next two (02) 54. Whatis lin% f(x) equai to?
¥ ' X

items that follow: _ \
2n ' ¥ ;@) o= '1- :
i sin4x+cos4xdX i i Ch
Let 1= x . % ol
1+3 : (b):f b
=2n - 4 3
; n © 0
51. What is J. (sin®x + cosx) dx equal to ? ; @ 1
i ; : {
) 3 55. Iff(x) = Iln|xl|where0<x<1 thenwhat:s
B 8 £/(0-5) equal to ?
3n : .
%, (@ -2
; (b) 1 ;
, (D=1
(©) 21 i i
g 2 (¢ 0
[ 127 (st 3 i @ 2
What 3 2 . i ._\
52'_ What T?qu‘.mfl b £ | 156, If f'(x) = cos(In x) and y = f(zx 3), then
5 0" 7 | iy
3 , : - what is g—y equalto?
(b)/ L} Y ‘ F i =
4 el ‘ 9x -3
3 3t i : (a) cos(ln[ )]
(c) il - 5 $iden w0x
a2 | ; é . '3 e
/ i ; X —
@ m e n(n(>2)
Consider the following for the next fiow (02) e 3 ( (21:—3))
& l(c) cos| In
" items that follow : A AR ey Ve B o g x2 _ X
N e R e 5[ ax-3))
| Let flx) = { T e { * ", () z—;z—cqs[ln( = ))
l ,8n

53. If the ﬁmétiqn-f(x)'is diﬂ'gr.entiablé at Xl’,= 1,
then what is the value of (a +b)? f { © |57, Whatis I |sinx|dx equalto?

{ '!‘/’ { ¢ (a) 2
b -1 -; K& 2
b s (b)s 4
(c) 0 / 7 14 ‘
] () 8
@ 1 ’ wiagr
} o d 16
DFTK-S-MTH (19- C )
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5. | p i N Gl
8 X€ 1L 1% i, 9% fix) = xlxl@x?ﬁar'l'a gwﬁmz)w%ﬁ? "
ﬁﬁ%ﬁﬂmm%
- |w W 2)@%@@%@%%
ta) 2 i dy _ 2y
: | di’ 2, x>0,y>0 ﬁagsaw%l
b 1 J\“N
5 61. sqwﬁﬁww%? ;
(c) i . | @ §=-%: |
1o e | iyl
@ = by Yae
- © x=.—%
59. IEFEA Tty o 2[‘13’} (d_yjﬂsmx of i@ x=2
| ; 8
ﬁﬁﬁfwgo 62. s;tr{aaa%?rﬁma(émhzq)aﬁ%iaﬁw
(@) 1 ’0’)}} ;9%— M&M
, ® 3 TJa T
© 2,2 5\ O
(d) . die
32 : gl " e
o Lol RTse G
60. y2 = 4a(x —b) ThR & Gt WawEl H HTHa aﬁérﬁ.aﬁ#(oz)m%%%ﬁ?ﬁ’h/gﬁ
7%?7? s - ‘.
oyt a&b\o&%’b}caq %ﬁ?ﬁf“ = D‘l
2 2 5 a4 ) C ol et
S gx_bz’J,(%) -0 JGS\& kb”““‘q . - 3R g =x-1. ,
f(x) 4
; 3, %? ‘
By () o e g(x)‘wLW%
i) dx? ¥ (dX] é/')j») .j&a‘ (t— ln(ab) f
dzy dyz_o (t Al}\m :
(c:/ﬁxz +(?1§) 7 O\,N )Q )ln ) |
oy (] w»‘/) o 34 79
@ yoztla) 7" &% 2n (ab '
: 5 /(
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58.

59.

60.

What is the

fix) =x| x| and x-axis for ¢ 1,117

(@) %
) %
(c) %
@ -;_

What are the

respectively of the differential equation

xz[iz)z b [d_y]"‘ +sinx=0?

dx3 dx
(a) 3,4
,(b)' L4
e 2,2
@ 3,2

parabolas of the type yz =4a(x-b)?

- e 2
(a) H.{.[ﬂ);}_—_ 0

“Hpg 2
d%y’ . 2[dY]‘
b) — +x“|—=| =0
dxl2 dx
B i {
. d2y (dy)z
st el ()
(c) : 2 + 3

'S
) yé—y+(dy) =0

f
I !

DFTK-S-MTH. '~ . '

area between the curve _Considert the following for the next two

order and the degree

o R ———

(02)

items that follow :

A parabola pa:sses through (1, 2) and satisfies the

: i 2
| differential equation % = -;X ,x>0,y>0.

_ 61.. What is the directrix of the parabola ?

1
(d) X = 5

62. What is the length of latus rectum of the

parabola ?
(@ 1

(b) %
(c) %
@ %

‘What is the differential equation of all Consider the following for the next two (02)

items that follow :

= e x-1 x-1
Let f(x) = L"z_b_ and g(x)=x-1.
63, Whatis lim [® -1 equal to ?
x>1  gx)
() In (ab)
4
®) In (ab)
2
(¢) In(ab)

(d) 2In(ab)

(21-C)



v foee T 2 o
e \ 68. lim h(x) (el g ? |
64. lim f(x)f® foperh s @ 2 )65& (/\C, x0- g \;\Vﬁy
) se/ab }\\ﬂ\gd&(/“‘\ﬁ/\ (a -2 )Jn/% 9‘(
(b) ab VL?\\\ ‘k\/\{b\ e (\}9/(6]3) 6 P U‘j/)&/
(©) 2ab @\ %/ \/ \ =0
= B -Lle i g

d
(d) T 5

mmaﬁ#(oz)mi)%vﬁqﬁ%i%’ :

e #ifer:

A N 03 = JB—x + 2. éf/y{afﬁan#aﬁa?(oz)wa?%)%zfﬁw%ww

65. Y BT T YT 41 R 2 @ Y Ao

)

faeme :
(@ (-2,2 i +a; x<3'
(s ] S\W //

n%-

-3
—b; x =3 3
3 ;

€© R=(-2,2 .
66. meaﬁﬁmmw%? % ﬁx)lia?ra’maﬂ%qxﬂml TR AR
69. amamands Ao O & 7
© /8 ; p ’/,-d\ : i
@ 4 / (@ -1 N ; YKﬁJ
mmwa(oz)w%mmw ® 1 &((5 %)i
m?ﬁﬁmﬂx)— |x| 3R g(x) = [x] - 1, &T [] sz i
qUTfeh B § | @ 3 T }L \
msﬁmh()-fg?‘;; Yok & f[
70. b TH TR ? 8y |
67. lim h(x) e st 2 ? .
x—0+ (a) -1 ‘ \(_s\
(a) -2 \ P’l_/
s)) il :
(b) -1 /bj//
@© 0 QL A 4 3
d 1 @ 3 % . }/‘//D \/
cL
DFTK-S-MTH (22-C) {{6 UL //
)(\‘r{/ 0
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L1 68. Whatis lim h(x) equalto?
g4 Whatis lim £(x)8®) equal to ? X205 A %
x-1
(a) +ab (@) -2
g \ Gl
(c) 2ab
e O
(d) _J_a_l)_
2 .
¢ Ghy v
Consider the following for the next two (02)
items that follow : ; A " : _ i
Let f(x) = ‘fz—x - J2+x ¢ ; ; . | Consider the following for the next two (02)
\ l items that follow : %
65. What is the domain of the function ?
(@ 2,20 - § X_g +a; x<3
® 2,2 | bl i
L GEE T ; Letflx)=4 a-Db; x=3 and
B n 2o e
A 4 | X3 ib x>3
@ R-F22; - o i i PR

Y & f(x) be continuous at x = 3.
66. What is the greatest value of the function ?

)= JBY 4 | :

: 69. What is the value of a ?

) V6 |

@ B : el ]

d).. 4 | e v
Cbﬁsider the following for the next two (02)| 8 (oo p ]
items that follow : , ‘ ; ;

- Let fix) = |x| and g(x) = [x] — 1, where [.] is the| d 3 ' b
greatest integer function. ‘
Lot h(x) = 162 70. What is the value of b ?

gf(x))
67. Whatis lim h(x) equalto? ' (a) -1
x—0+ {

(a -2 : ()" 1

b) -1

o ()i 2

e O

d 1 (d 3
DFTK-S-MTH (23-C) B
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RETEY
WWW#(@)W#WWW uﬁ@wﬁa% ?ﬁ{\\g) B
f%'anaﬁﬁm & 1 g\y Qé ;‘
4 A
HH it f(x)=x2—13ﬁ'{goﬂx)=x—~/§+1- Ef‘ b S ¢ <
(b) % /\Y’r /;b\ N .\W
71. ﬁqf%ﬂigaﬁ%ﬁq—m@g(x)%%ﬂm : /g e £
; © 2/ %/‘ 7 Q/
SSE R 9 Y L
CV N g i e @ 4 %% i
.(b) VE+T - 4537 41 maﬁaﬁ#(oz)m%%yﬁwﬁ%aw
""(c) J\1+%’T+1 ’ )%ar\rﬁﬁlq :
D x+1- 5314 il ]
‘ ,\ Uh B flx) = | 2 x+4\ 6 /mwﬁmﬁa
"2 8(15) o s 2 | | 3 6 zrol s JOJ
@ 1 | '%l @4\) CM‘M‘{) CMMC
(a) -—,O]
d 4 143
| b) Fo,%*i] W /
Wﬁaﬁ#aﬁ#(oz)wﬁ%%yﬁwﬁ%aw :
e #iforg: © 0,%9}14?
mmmWfﬂ{mmwﬁmﬁa%aﬂt'f et
@ o,—]m
2f(x)+f() X + 3, il ulgs '
| 76. aswwmawmmm%
73. R0-5) frus su R 7
" ' 1' (a) x=——3—tR
(a) E
: b x=_17
& 5 (© x=0wW
i @ x=B g
d 2
DFTK-S-MTH (24=C)




foufouowmg for the next two (02)
ow .

—1 and gOﬁX)=x_ \/; S

~one of the following i5 4 possible
sion for gx)?

J;-l-— - ‘#_

J__ | '\’f; 1's 1.8

o) W + F

—Jx+1+ 1

74. If f is differentiable, then what is £'(0:5) equal

to? ‘
1

(a) Z
2

(b) 3

) 2

d 4

Consider the following for the next two (02)
items that follow :

A function is defined by
; x+1 2 3
ﬂx) = 2 x+4 6
3 6 x+9
75. The function is decreasingon ;
[ 28
¥ -—, 0
(a) s }
P e
b 0,—
(b) i
i
0,—
(c) %5
WiecT
(! 0,—
(d) %)

76.

(a)

(b)
(c)

(d)

(25-

C)



e

'é””a’ﬁwamz)m%mﬁwﬁﬁ;rw

ﬁ!"w%ﬁ; 4x +y21=:.9. B

7. RAL L R CE E TR
(a)

78. xyma]ﬁ]'a?ﬂ'qq]:[w§9 ‘ !

» (©

(d)

WD Ok Mdjw Af®

mmaﬁ#(@)mﬁ%mﬁnﬁm 7.

Fram #ifsrg
EWﬂx) 7 + sin? x GRT qRwIRE B |

79. WG TR ARy (4.
(@ [o,1]
g ko
© [Rr-1,n+1]
@ mitmen

B

|
anﬁan#w##(oz)m#%%zfﬁw%a
faem #ifre

m‘iwa-x)h(s-x)“f:szwﬁar{ﬁml ,

" st aﬁw%wﬁm@ﬁmw%v

o (1-%9 14 (st

&2 Ln)o\#éfn&?%
IRV e

¢ AT

82. Wi % Tt el 1 AT TR 2

aH + {%W
(a) 24
W
o2 A
© 10 b’:/CJ"?Ji
@l T 2=l

o ptled Qf 24
W&ﬂ#wmmwmwmnﬁﬁw
WfFF(UTI 2% + 272 +22+1=0 3ﬁ'{
THIRLILIT ; 71985 , ;100 , ¢ _ OWﬁWEﬁﬁQ|

wr

[ 83. HW“TI%%W%?

80. 39 HeH HI AETHA FE? (a) 1,m,m_2
2 () 2
% 1; | ©  1,-0, 0
(c) 3
(d) FE B @ & 6 ey i
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r the following for ¢ :
: he next two (02) |Consider the following for the next two (02)
items that follow :

Consider the eciuaf,iop (1-x*+(5-x)* =82

_|81. What is the number of feal roots of the

equation ?
2

ot i

bl 4o
t is the maximum value of xy ? () 4
‘@ 8

o 82. What is the sum of all the roots of the
5 ! equation ? i )
1 e s A 2

(a) 24
e - () 12
the following for the next two (02| i e
Ze - 2 () 10 gt &
defined by f(x) = 7 + sin® x. @ 6
. tis‘the_range of the function ? o Consider the following for the next three ( 03)

items that follow :
Consider equation-I : 8 +9222 +22+1=0and
1985 i leO +1=0.

equation-II : z
83. What are the roots of equation-I ?

@0, 0%

) =1, 0,0

() 1 oot ’ :

; (d) —1,—0),—(92




84, '
%ﬁﬁﬁ?ﬁ@, |2 !rf?:k=c,a‘rmﬁw%qg—r%l:. ,

‘I %? , atc . b ‘
[ ! (a) Ui &g T oo
| & i i e |
il SE o gl
(0]
W 13 -
( Q,(_g.,:_ CLOLQWL&L .f'—é_/f_ a+b

# 85. an#wﬁaﬁa?v(oww#%ﬁwﬁnﬁﬁaw
L e B S s 1 oy | T e '

P v ¢ ; : ‘ ! ;
| TR ST (D e ur it brige Lol
I (@ o e :&L_@' Do +X)% =1+ Tyx+Tyx? + Tyx3 + .. T s
’, b) 3 Loge ik SR %BQJ Ty +2T, + 3T + .. +nT ﬁ:a%awgo
© 9 Lo o ('Y = Gardaed
/‘ G- ‘ g .H}-
f G o 4’723‘)(3 »
i | | () T A ;/ ‘Tn,
‘ WWW#(OQW%WWW < "
| = #iferg. %9, L= a 2B w30l el onm, m%
I TR ? . T
i ; W%W'H’Fﬂiﬁtw (a + b) x2 —(a+b+c)x+k 0 (a) 0 ‘ e TC'LLTL :
f;l Wﬁ?ﬂmﬂ% \_’lﬁTabcaTRIﬁE%I | ‘ % (b) —9n-1 c—!— "”-P &/y
rj f : AL (el Ein oDl Tl f'T}_.M < AFA
'« 86. ﬁk:%,(c#O),a}W%%%i ‘ ,2&,(71’(\", R’L
It 90. T1+T2¢T3+...+Tnﬁm:§:a§|3(r%? .
I (a) o/afes e o e
[l - | Aot LR . o o
i , \ ST e T
(b) Fredfess R TFAH L j | (b) 9n_1q i | q
g T 2R S AR 0 © 2l —
11} ; | l 1L ‘_‘2“, 5
j i @ T, W IRt e , ot o - i
’ } (28-C) ,[ ‘7{]; = 4
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- . .'_‘,z.. /
=) , ' 3 |
2 N
L% 5 %)
; i s
L -_-. { ):
1A%} 7 s
5 i )
¥ gy
‘I
£ 5 F.I g
1. ‘
J g {
I o8
| .ff

tfollow :

juadratic equation -« is’ - given | by

k= <, (c+0),then the roots of the ec{uati(;n i
' 2 ’ -4 ; 5 |

/

87. Ifk=c, then the roots of the equation are : i
Wy F a+c b
a+b a+b
a+c b
(b) a+b “a+b
R
dat
(¢ lan a+b
(@ s
BB

I"

: Cons;der the: followmg for the next three (03)

. [items that follow

o Tnx“.’

o

Let(1+x)n 1+T x#Tx +Tax3 +.
1 2 3
b g |

/'_‘!,"44 o \

88. WhatisT; +2T, + 3T + ...+nT, equal to ?

@0l
e r.(b)_W,le_; £ 7|
- (@28
i 1 Sy
il (d) - 2“'
89.  Whatis 1 = Ty + 2T, = 3Ty + .t CHEOT
|1 equalto 230EE 1
@ 0, :.
b -2271
il (C)'i “ngo-1 | J

LS

4 ( ¢

o g :
'Rai 4 : 1 | . /1,/ 90.‘ ,WhatlsT1+T2+T3+ +Tnegualto?
eal and equa ik ;
b . di (L) 2,1.‘
Real and unequal e :
: / 3 { () +l2%. 1
: Real iffa > ¢ &y ‘ /) (c) gn-1
; Ui = 7 / ;
@ plex butnotTo2l L R @ 2+ 1§
8 L8 | -
\ By ¢ (2950
- {; ( f 'V.‘ "
f
Py ) »

Bl
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92,

| PREERA g,

1, 3) § Iﬁﬁfﬁ‘@amﬁﬁﬂ?mﬂ?ﬁ
Hipf%/%? 7

ﬁﬁ?“%wmﬁg@m@m
@ Sgm,
(b) Z%Ha'z\-

e ﬁw%fr@awf’%

L R (1, 4,7, 10, 13, 16 B, | (190

2. Ra»'rqtm {1,5,9,13, 17}% 1

3. RWWR%W%W%I i

| %

‘ "ﬁ%ﬁqmwmmwwmgﬁq
: 0 \ Y
(@) ad 1 i
(b)) had 2 ijj(ﬂ &, ]

Y9

(c) 13 2 : i ) ‘
td) 52313?3

DFTK-S-MTH

LG Al
t

iEs g O<x<2
L fix) =
{4}{, 25x<8

f@qm%l

g 2
{AE) (x)— ! O<X<4
ol 3x, 4<x<8

: / g‘@W%l |
mmﬁ@ﬁqwﬁﬁ

(b))%»}m)z

(c) 1aﬁv;z‘cﬂ=h

31/ B (AUB) (A - B)

aaga))%‘em s "

&
f

EFI?ﬁ?‘E‘JT:foAﬁ 1631@%%:1‘7(0 2 s, 03, ﬁgmmmﬁaﬂﬁﬁq

LY A= AUB) U@ - B), it
i ‘; q % i i ‘§ { '.r‘ 5 l- "f ':
2_. AU (B A) (AUB) bl

Wﬁ‘iﬁaw

Wﬁwrﬁaaaz

%/%?'
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91 {he Cartesian product A x A has 16 elements
among which are (0, 2) anq (1, 3). Which of the

sllowing statements is/are correct ?

It is possible to determine set A.
b A x A contains the element (3, 2).

: %el%t the correct answer using the code given

T &1 dnly
) 2 only
Both 1 and 2

Ji \
Neither 1 nor 2 i LA

o |

{123

AtoAbyR {(x y) 4x 3y 1} where,

e correct 7
The domain of R is {1, 4, 7, 10, 13, 16}, _

B e ringe of R is (1, 5, 9,13, 17).

20} Deﬁne a relatlon R e,

‘ y € A. WhJch of the followmg statements L ,f

» Tﬁe ré.nge of Ris equal to codomain of R.

93. Consider the following statements :

The relation f defined by

1.
R o3
fix) = i / 3 is a function.
e ldxs, 2<% <
2.  The relation g defined by -
L |x% 0<x<4,
gx) = : ; Yol ;8 1s a function.
X, 4<x<8§° :

Which of the statements given above is/are

correct 7
(a) 1lonly
-+ (B 2only
© ' Both1and2 |
A e 4
‘) (d) . Neithe; .1 nor 2

\ |
; g

ity ‘»\;.,'., 5

4. Consider the following statements :

‘1. | A=(AUBU(A-B)

2. AUB-A)=(AUB)
/.’_:3_.4  B=(AUB)-(A-B)
:‘) " “;"['~ 7 il

f;v Which of the statements given above are

(3

|/ correct?
L (a) ;;nd 2 only
(b) 2 and 3 only
(¢) 1and3 otlly
(d 1,2and3 y
1-C)



.‘ )_'7 i
95‘ Qa'? G 7 1 i
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